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12.

13.

14.

PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

Expand cos® @ in terms of cos@.

cos® @ g cosd —an o mlijsemns afauflés.

Prove that

32sin® 6 =10 -15c0826 +6cos 46 — cos66 .

32sin® 6 =10 -15c0s26 + 6cos 40 — c0s66 eram e 9.

Evaluate lim(secx —tanx).

Hlvm

lim(secx - tanx) & wHU@UE STRTS.
a A

T
>3

sinf _ 5045
6 5046’
approximately.

sin@ 5045
g _ 6045 - i 9 = 1°58" q.
9 B046 ¢ e B

If

show that 8=1°58

3 Rl

sina +8in3a +sinba +...., find the sum to n
terms of the series. .

sina +sin3a +sinba +.... eeam Qzmfi® n
2 U ser eueguiener gl (HS BsTensemis STems.

_ 1 1 T

Show that huH|.|+r| +.Q.
243 3.3 53 7.3

T 1 1 1 =

—_—=]l——t———— ... a eTenm R

2v3 33 53 73 i

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.
Prove that
sin76 = T cos® 8 sin @ — 35 cos* @ sin® O + 21 cos® 6
sin® 6 —sin’ 4.
sin76 =7cos® 6 sinf ~ 85 cos”  sin’ 6 + 21 cos” &
sin® 6 —sin’ 6 eren e,

Prove that
28 cos® @ = cos 90 + 9 cos 70 + 36 cos 50 + 84 cos 36

" +126 cosd.

28 cos® 0 = cos 96 + 9cos 78 + 36 cos 50 + 84 cos 30
' +126 cos @ erem Hlemial.
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17.

Prove that sin(x + y) =sinxcosy +cosxsiny.

sin(x + y) = sinxcosy +cosxsiny ere Hlemi9.

If _sin(A+iB)=x+1y prove that
2 52 :
— a1l
sin“A cos“A
RN .\v\m
sin(A+iB)=x+iy eaflé =1

sin®A cos’A
ereo Blemial.

Separate . into real and imaginary part's
tan(x +iy) .

tan(x +iy) -m Qi wHmb sHuma LGEHseTTs

9N &s.

Show that sinh™'(cot x) = log(cot x + cos ec x).

sinh™ (cot x) = log(cot x + cos ec x) eran Hemq.

Find the value of Log(4 +3i).
Log(4 + 3t) ér wHlewLs sam@ii.

Prove that _ONE = 2i tan™ (cot x tanh y).
sin(x —iy)
log mwnﬁa +1y)

e i ,
o) i ﬂmb. (cot x tanh y) eren Blem 9.
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If sin(@+ig)=tana+iseca prove  that
cos26 cosh2¢ =3.

sin(@ +ig)=tana +iseca aafe cos2d cosh2¢=23
erent BlemLal.

jqo®

it o=x+iy oobm&.mﬁbm only principal
value,show that -

@@ y= xtan 2L

: 2

b)) x*+y*=e™.

SEnEWITIL wéllenL wHmbd - aTHSH&CsTET(H
i =x+iy eafle

(=) y= anmbalmm

(=) x*+y°=e™ aran Hem9.

‘

If cos(+ig)=k(cosa+isina) prove  that
c0s 26 + cosh 2¢ = 2k?,
cos(+ig) =k (cosa +isina) erafe

c0s 26 + cosh 2¢ = 2k* eren HlemL9.
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18.

19.

20.

Find cosa cos3a +cos3a cos5a +cosba cosTa +...
n terms.

oS @ co83a + cos 3 cos b + cosba cosTa +... n
e priyser auequierer Agmfler sl B AsmTamsmws
SRS, ;

When x lies between |W§.w=m. Wa, show that
e L o
gba.JWemb R+anb X—...= ﬁmbra+wambr x
+.anbr.ma.._.:.:
5. .
1 o1 e , q Al
—o T 0hpb 27 5 @enuder x @@a@_b Qumpg
emsal.wambmR+W35ma!::u evaa+anE~wa
+Wembwma+::ﬂ§&@._mﬂ
PART C — (8 x 10 = 30 marks)
Answer any THREE questions.
Prove that
sin 76 6 4 g .
= =64cos° @ —80cos” 9+24cos“ 6 -1.
sind - - 4 : :
E.qu = 64c08° 9 - 80cos? @ + 24 cos? 6-1
sing T ,
erar flemLal.
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22.

23.

24.

Prove that .
64(cos® 6+ sin® §) = cos 86 + 28cos 46 + 35 .

64(cos® 6 + sin® 6) = cos 80 + 28cos 40 + 35 eran Ble 9.
If cosa +isina = cos(d +ig), Prove that

sin? @ = +sina = +sinh® ¢.

cosa +isina = cos(f +ig) erafled

sin’ @ = +sin @ = +sinh® ¢ erem Hem.9.

Find coseca +cosec2a + cosec2?a +... to n terms.

coseca +cosec2a +cosec2’a+... n
auenruilenen s (HSOsTmsmWS STETS,

2 mUiLEET

, C? c?
Sum the series C mmsm+qmwbw%+lwlmwb,wm+:.8
where |C]#1. - e

- QN . Qw . . )
Omwb%+ﬂ4wbmm+ﬂ in38+..0 ereim Qsm_fer

&L HsAgrasmus srans. @i [C|# 1.
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